48 WORD PROBLEMS
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- Had a $10.00 bill.
Spent $5.35.
How much was left?

m Find my number. It is 8.9 more than 6.08.
What is my number?

. The odometer read 2489.6 at the end of
a trip. If the trip was 275.9 miles, what
was the reading at the start of the trip?

ﬂ A car used 8.6 gallons of fuel on one trip.
On another trip it used 6.2 gallons. What
was the total amount used on both trips?

A

d

was added to the $8.007?

Bought 4 pies
at $3.98 each.
Total cost?

$6.12 for a
dozen donuts.
How much for 1?

A length of 0.53 cm is cut from a 0.97 cm
length of wire. ¥ ~w much wire is left?

Alice’s temperature went from 98.6°F to
103.2°F. How many degrees did it increase?

Eight pairs of socks were bought. The cost
was $1.09 a pair. What was the total cost?

Nancy bought an $8.00 item. The sales tax
rate was $0.04 per dollar. How much tax




